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Part- I 

Q. NO. 2: Answer the following questions: 

1) Define matrix. 

2) Which satisfy the matrix equation:  

[
𝑎 + 𝑐 𝑎 + 2𝑏
𝑐 − 1 4𝑑 − 6

] =  [
0 −7
3 2𝑑

] 

3) Find the negative of matrix [
1 −5
2 3

] 

4) Find the product [-3  0] [
4
0

] 

5) Find the determinant of 𝐴 =  [
3 1
2 4

] 

6) Find multiplicative inverse (if exist) 𝐴 =  [
−1 3
2 0

] 

Q. No. 3:  

1) Represent the number on number line −2
3

4
 

2) Express recurring decimals in form of 
𝑝

𝑞
 (a). 0. 5̅ 

3) Simplify radical expressions 5√
3

32
 

4) Use law of exponent if (2x5y-4)(-8x-3y2) 

5) Evaluate 227 

6) Simplify in form of a+bi (-7+3i)(-3+2i) 

Q. No. 4:  

1) Define scientific notation also give one example. 

2) If log 31.09 = 1.4926 find the value of log 0.003109 

3) Find the value of x from statement log819 = x 

4) Express log x -2 logx + 3log(x+1) – log(x2-1) as a single logarithm.  

5) Calculate log32 x log281 

6) If log 2=0.3010, log3=0.4771, log5=0.6990 find the value of log30.  

Part – II 

Q. No. 5: (a) If 𝐴 = [
1 2
4 6

]  𝑎𝑛𝑑 𝐵 = [
3 −1
2 −2

] then A(Adj A) = (Adj A) A = (det A)I  /4 

(b). Use cramer’s rule to solve system of equations:  /4 
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3x – y = -1  4x + 2y = 8 

Q. No. 6: (a). Solve the equation for real x and y (2 – 3i)(x + yi) = 4 + i /4 

(b). Simplify: √
(216)

2
3 × (25)

1
2

(0.04)
−

3
2

      /4 

Q. No, 7: (a) Prove loga(
𝑚

𝑛
)  = logam – logan    /4 

(b). Evaluate: (i). log2
1

128
                         (ii). 10P = 40  /4 

  

 


